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Name ______________________________

Short answer questions/problems

For short-answer questions 1 through 3, calculate the impact on the firm’s after-tax cash flows assuming the marginal corporate income tax rate is 35%. For all cases, use a “+” to indicate an inflow of cash and an “-“ to indicate an outflow of cash.  Where applicable, indicate in which year the cash flow occurs.  (Today is t = 0).
1.  If Archer Inc. builds a new store in San Francisco, sales at its existing stores in San Francisco will fall by $350,000 per year for each of the next 10 years.  What is the impact of this information on Archer’s net after-tax cash flows 2 years from today?
2.  In planning to build a new line of cargo ships, Mayweather hired a research and development firm for $450,000 to experiment with new compounds for building the hulls of the ships.  While all research has been completed, only one-half of the cost was paid when the research firm was hired a year ago.  The remaining half of the cost is due today when the final report is delivered.  How should this cost be factored into the decision of whether to proceed with building the new line of cargo ships?
3.  Sato Inc. is building a chain of wireless communication stores around the country.  If Sato proceeds, it estimates that it would need to spend $5 million a year from today buying an inventory of cell phones and pagers.  How should this cost be factored into the decision of whether to proceed with building the chain of stores?
4.  Which of the capital budgeting rules may lead to suboptimal capital budgeting decisions because the rule ignores at least some of a project’s cash flows?  Note:  use words not abbreviations.  
5.  Assume you own a call with an exercise price of $20.  Sketch a graph of the payoff from this call as a function of the stock price when the option expires.  Also show your payoff if the stock price ends up being $28 when the option expires.  
6.  You have just sold a put on Dell stock with an exercise price of $35 that expires in 3 weeks.  What implications does this have for you in 3 weeks?
7.  You are thinking about buying a call on Amazon that expires in April.  At the moment, you can choose between calls with exercise prices of $30, $40, $45, $47.50, $50, $55, $60, $65, $70, $75, and $80.  Which of these calls would be the least expensive to buy?
8.  What impact does the payment of dividend have on a firm’s bondholders (note:  you do not have to explain the impact, just state what the impact is if there is one).
9.  Assume that Tucker Inc. is planning to build a new facility for $600,000.  The facility would be depreciated on a straight line basis over its expected 10-year life.  The required return on this facility is 9%.  Use this information to calculate as many of the numbers as possible in the break-even equation.  Note:  go ahead and write out the break-even equation and plug in as many numbers as possible (there is not enough information to fill in all the numbers).

10.  Briefly define sensitivity analysis.  
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Problems/Essays

1.   T’Pol Inc. has assets with an accounting book value of $70 million but an estimated market value of $150 million.  The average expected remaining life for these assets is 12 years.  The firm is funded with debt that matures in 10 years for $180 million and with equity.  T’Pol is considering building a new science lab for $10 million.  The lab would have an expected life of 15 years and would be funded by issuing additional debt that matures in 10 years for $15 million and by issuing equity.  The present value of the net cash flows the lab is expected to produce is $18 million.  T’Pol also believes that if sales from the lab fail to materialize, it could sell the facilities for $7 million at any time over the next 5 years.  The standard deviation of returns on the new lab is 65% compared to only 51% for its existing assets.  But due to some diversification effects, the overall standard deviation of returns on the firm will actually fall to 50% if the new facility is built.  The risk-free rate of interest varies according to maturity as follows:  1-month =  0.99%; 1-year = 1.20%; 5-year = 3.17%; 10-year = 4.18%; 12-year = 4.46%; 15-year = 4.78%; 20-year = 5.11%; 30-year = 5.09%.  
a.  How does the ability to sell the lab if sales fail to materialize affect the value of the new lab to T’Pol?
b.  What is the overall impact of building the lab on the value of T’Pol’s assets?

2.  In class, we discussed 4 specific potential conflicts between stockholders and managers.  

a.  Briefly discuss these four conflicts and the fundamental source of these conflicts.

b.  Assume that Phlox Inc. is aware of these potential conflicts and thus grants EVA-based bonuses to its managers.  Discuss which of the conflicts will be resolved and why.  Also discuss which of the conflicts will not be addressed and why.
